ASSEMBLY INSTRUCTION Page 1/1
INSTRUCTION D'ASSEMBLANGE

Hom B2013DC / B2043 / B2053W / B2063-R Twin Trundle Unit/ Lit Gigogne
PART LIST
| LISTE DE PIECE

@ Trundle Back Rail 03 Panel with Caster

©) Trundle Front Panel / Panneau arriére de lit gigogne / Panneau avec roues @) Slats/Lattes
/ Panneau avant de lit gigogne 1PC 2 PCS
1PC

2Sets(6pcs/Set)

Step 1/ Etape 1

, B
Step 2 / Etape 2 C

HARDWARE LIST / LISTE DE QUINCAILERIE

A = Wood dowel / Goujon de Bois @8x1 3/16" 8PCS| | D % Allen Key / Cle Allen M4 x 2 3/8"x1"x1" | 1PC
B {———mmmmmmm | Bolt / Boulon 1/4"x2 3/4" 4PCS |E | @ /(powsonssomss- Screw / Vis 5/32"x1 3/8" 24PCS
Barrel Nut / Doigts en travers |1/4"x7/8"x1/2"x3/8"[4PCS




